4 ShkC (5 6 Z:BIR)

T i T = AR R R

TH4 BB/ N R A LS T
AALBIT H ERR2THE 64 18 H ANALBATIGAT | TRhigpt b At
TEAMHS 11, 383, 200 AFLTE HEf A A% 10, 540, 000
IR TE 4R 10, 800, 000
A F AFL&%H 1%
1|7V B T3kt 10, 340, 000
2 AR LR A 10, 000, 000 AL
3 RSt AE R T2 10, 290, 000
4 RS TRk E % 10, 430, 000
5 |HEEER N kAt 10, 300, 000
6
7
8
9
10

B # ot

HRE) I2& D,

- Tkl TR aEECER BRIE N QA A EICB T o iR PRk S4RFI 36 3 7)o 7 RAL O FE4 1
W2 NCHE 6 175, HS5 T ROH 6 5OMEICHESE, B LTHRAFROREREOH NG 44,
B R DA O 1 & a4 LT,

CFRAEERIL. TREE IR D IEA EE B OAALEEGE DN AFLFE R FE D RROEEDBIEIZ W T (
PRI TR TEER 1 5) 12K 5,

» LHEOTEMAR IS DERKI1E, TFRIEOIREE L 722 56 FEMHE IC SV T (FRR 7 45 3 H 28

¥ BFHOHAIT TH] T,




